OBJEM TELIES B

Aky objem ma teleso na obrazku?

1)

3m
A) 31.6 m3
C) 43.81 m?

B) 39.81 m
D) 37.7 m?

3)

2 km

3 km

2 km &
A) 26 km3 B) 41 km?3
C) 32 km? D) 30 km?

5)

4 km 2 km
0.9 kmkm

1km
A) 2.7 km3 B) 5.4 km3
D) 8.9 km3

C) 17.4 km3

| 5cm
AN

cm 4cm
A) 20 cm? B) 10 cm3
C) 60 cmd D) 26 cm3

7)
3

Meno a priezvisko:

Trieda:

2)

3m

m
2m
3m \p m

A) 24 m3 B) 22 m3
C) 10 m? D) 18 m?

3 km

A) 19 km3 B) 24 km3
C) 22 km3 D) 8 km3

3.4cm
A) 1745cm? B) 25.5cm?
C) 127.5cm? D) 138.1 cm?
8)
5 km 3km
4 km
A) 18 km3 B) 9 km3
C) 12 km3 D) 6 km3
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2) D
6) C
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3) D
7) A
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